Name: Score:

[ Identifying Solutions - MCQ] Basic: S1

Choose the correct solution that best describes each inequality.
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D [x[=12 2) |-x|<23
a) (o0, =12] U [12, o) b) (—co, —12] a) (=o0, —23] U (23, ) b) (=0, =231 M [23, )
) [-12, ) d) (=0, 12] U [-12, o) C) (=00, 23] M [-23, o) d) No solution
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Gain complete access to the largest
5 |x|<-26 collection of worksheets in all subjects!

a) (26, )

C) (-oo, -26)

) |-x| <35
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a) (_ool 35] v [_351 °°) b) [41 °°)
C) (-0, -35] M [35, =) d) No solution J tc) (=00, 4] U [-4, o) d) (—oo, -4]
.
4 N [
9 |x| >27 10) -| x| <16
a) (27, ) b) (—oo, 27) U (=27, ) a) (o0, =16) M (16, o) b) (—c0, 16) U (=16, o)
C) (=00, =27) U (27, =) d) (=o0,27) N (=27, o) C) (=00, 16) N (=16, o) d) No solution
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